




AR-HK – HOOK PENDANT INSTALLATION
Refer to alternate instructions if using Pendant, Wall, Pole, Yoke Mount, or High Vibration Yoke

Step 3

STEP 1.
Inspect shipping package and contents to ensure no damage has 
occurred during shipping.  Discard surface/ceiling mounting bracket 
provided with AR luminaire.
STEP 2.
It is recommended to install Secondary Safety Cable by looping 
appropriate steel cable or chain through the outer band of the unit and 
fastening a closed loop. Secondary safety hardware must be rated for a 
minimum of 180lbs. Secondary safety cables made from stainless steel 
aircraft cable are available upon request.
STEP 3.
Slide anti-rotation lock onto suspension hook assembly and install hook 
assembly into ¾ NPT threaded entry. Tighten to hand tight plus 1 to 2 
turns. Slide anti-rotation lock into place and tighten set screw to lock 
unit in place.
NOTE:
To aid in assembly and protection against ingress use of a petrolatum or soap 
thickened mineral oil based thread lubricant/sealant is necessary.

Un-used conduit opening must be plugged to maintain the integrity of the 
enclosure.

STEP 4.
Latch hook onto eye-bolt or other �xed mounting loop. Mounting point 
must be rated for a minimum of 180lbs.
STEP 5.
Install remaining loop of secondary safety chain or steel cable to 
suitable mounting location and fasten securely.
STEP 6.
Resume installation instructions provided with luminaire. (STEP 4 in AR 
Installation Instructions provided with Luminaire)

Step 2

This AR-HK kit is intended for use with UL Listed AR luminaire as 
marked on the luminaire nameplate.  

Accessory Package Contents

INSTALLATION STEPS

AR-HK PART NAMEQTY
1
1

PENDANT HOOK ASSEMBLY
ANTI-ROTATION ASSEMBLY

TMNemalux
I N D U S T R I A L

AR-HAZ
rev. A-14

1-1www.nemalux.com |  sales@nemalux.com |  Tel 403•242•7475 |  Fax 403•243•6190 MADE IN CANADA



AR-YK – HIGH VIBRATION YOKE INSTALLATION
Refer to alternate instructions if using Conduit, Hook, Pole, Wall Mount, or Yoke Mount

STEP 1.
Inspect shipping package and contents to ensure no damage has 
occurred during shipping. Discard surface/ceiling mounting bracket 
provided with AR luminaire. Remove 8 x M6 hex bolts from sides of 
luminaire and discard.

STEP 2. 
Mount AR high vibration yoke to mounting surface using a minimum of 
4x ¼-20 or M6 fasteners (not provided).

STEP 3.
Install suitable wiring system to the conduit opening per CEC/NEC 
requirements for the speci-�c location of install.
NOTE:
To aid in assembly and protection against ingress use of a petrolatum or soap 
thickened mineral oil based thread lubricant/sealant is necessary.

Un-used conduit opening must be plugged to maintain the integrity of the 
enclosure.

STEP 4.
Mount AR Cheek Plates to sides of AR luminaire using 4x M6 �at head 
cap screws per side. Thread one cheek plate over installed wiring 
during assembly. Torque fasteners to 5 Nm (45 in-lbs).

STEP 5. 
Thread installed wiring through opening in AR high vibration yoke 
mount and install AR luminaire into yoke. The raised circular bosses on 
the AR cheek plates should register inside of the large circular holes on 
the AR high vibration yoke mount arms. Rotate luminaire to aim in the 
desired direction and fasten in place using 2x M6 socket head cap 
screws and �at washers per side. Torque fasteners to 5 Nm (45 in-lbs).

STEP 6.
Resume installation instructions provided with luminaire. (STEP 4 in AR 
Installation Instructions provided with Luminaire)

Step 4

Step 2

This AR-YK kit is intended for use with UL Listed AR luminaire as 
marked on the luminaire nameplate.  

Accessory Package Contents

INSTALLATION STEPS

AR-YK PART NAMEQTY
1
2
8
4
4

AR HIGH VIBRATION YOKE
CHEEK PLATE
M6 x 1 x 25mm SOCKET FLAT HEAD CAP SCREW
M6 FLAT WASHER
M6 x 1 x 16mm SOCKET HEAD CAP SCREW

TMNemalux
I N D U S T R I A L

AR-HAZ
rev. A-14

1-1www.nemalux.com |  sales@nemalux.com |  Tel 403•242•7475 |  Fax 403•243•6190 MADE IN CANADA

WARNING:  
The AR Head must not face upwards 
by any degree beyond the vertical 
position for Class II, Division 2, Zone 22, 
and Class III hazardous locations. ✔

✘

LIGHT BEAM

HORIZON

[3.1in]
80mm

[17.3in]
440mm

[4.3in]
108mm

[2.3in]
59mm

[1.7in]
44mm10 x    6.8mm [0.27in] THRU ALL



AR-SP-AC – SURGE SUPPRESSOR KIT
(Requires AR-SP-AC Surge Protector Accessory Kit)

STEP 1.
Inspect shipping package and contents to ensure no damage has 
occurred during shipping.

STEP 2.
Open AR Lens with 7mm hex socket driver. Allow Lens to hang via 
retention strap.
NOTE:
Screws are captive fasteners and will remain attached to the Lens for ease of 
reinstall and prevent loss of fasteners. 

STEP 3.
Install provided double-sided tape along side of surge protector. 
Remove backing paper and place between mounting points as shown, 
with tape-side down. Install retention strap with two M3 fasteners and 
ensure surge protector is held tightly in place.

STEP 4.
Wire according to wiring instructions on Page 2.  Refer to NEC/CEC 
codes and follow all applicable local standards.

STEP 5.
Close AR lens. Ensure the retention cable is not pinched between AR 
Head and the AR Lens.  Tighten lens bolts using a 7mm socket or box 
wrench to 1.7 N-m (15 in-lbs) in the order designated in the diagram to 
ensure gasket sealing.

5

6

7

8

9

10

11

12

1

23

4

Step 5

AR-SP-AC PART NAMEQTY
1
1
1
2
2

FSP3-277-20KA SURGE PROTECTOR
3M VHB TAPE
SURGE SUPPRESSOR RETENTION STRAP
M3 x 8mm PAN HEAD PHILLIPS MACHINE SCREW
M3 FLAT WASHER

Step 3

M3 SCREW

This AR-SP-AC kit is intended for use with UL Listed AR luminaire as 
marked on the luminaire nameplate.  

Accessory Package Contents

INSTALLATION STEPS

TMNemalux
I N D U S T R I A L

AR-HAZ
rev. A-14

1-2www.nemalux.com |  sales@nemalux.com |  Tel 403•242•7475 |  Fax 403•243•6190 MADE IN CANADA



1. Disconnect Line Input branch circuit conductor from splice or terminal 
connected to Black leads from LED Driver. Re-connect Line Input branch 
circuit conductor to Black wire from surge protector. 

2. Connect Orange/Black wire from surge protector to splice or terminal 
connected to Black leads from LED Drivers.
 
3. Connect White lead from surge protector to splice or terminal 
connected to Neutral Input branch circuit conductor and White leads 
from LED Drivers.

4. Connect Green wire from surge protector to splice or terminal 
connected to Grounding branch circuit conductor and green lead from 
luminaire case.

PS 1

PS 2

GROUND
(Factory)

BLACK

WHITE

O
RA

N
G

E/BLACK
W

H
ITE

G
REEN

BLACK

PURPLE

GREY

SURGE 
SUPPRESSOR

WIRING DIAGRAM
(AR-SP-AC)

GREEN
W

H
ITE

TMNemalux
I N D U S T R I A L

AR-HAZ
rev. A-14

2-2www.nemalux.com |  sales@nemalux.com |  Tel 403•242•7475 |  Fax 403•243•6190 MADE IN CANADA

BLACK - LINE
WHITE - NEUTRAL
GREEN - GROUND
PURPLE - DIM (+)
GREY - DIM (-)



STEP 1.
Inspect shipping package and contents to ensure no damage has 
occurred during shipping.

STEP 2.
Open AR Lens with 7mm hex socket driver. Allow Lens to hang via 
retention strap.
NOTE:
Screws are captive fasteners and will remain attached to the Lens for ease of 
reinstall and prevent loss of fasteners. 

STEP 3.
Install provided double-sided tape along side of surge protector. 
Remove backing paper and place between mounting points as shown, 
with tape-side down. Install retention strap with two M3 fasteners and 
ensure surge protector is held tightly in place.

STEP 4.
Wire according to wiring instructions on Page 2.  Refer to NEC/CEC 
codes and follow all applicable local standards.

STEP 5.
Close AR lens. Ensure the retention cable is not pinched between AR 
Head and the AR Lens.  Tighten lens bolts using a 7mm socket or box 
wrench to 1.7 N-m (15 in-lbs) in the order designated in the diagram to 
maintain ideal gasket sealing.

AR-SP-HV PART NAMEQTY
1
1
1
2
2

FSP3-480-20KA SURGE PROTECTOR
3M VHB TAPE
SURGE SUPPRESSOR RETENTION STRAP
M3 x 8mm PAN HEAD PHILLIPS MACHINE SCREW
M3 FLAT WASHER

5

6

7

8

9

10

11

12

1

23

4

Step 5

Step 3

M3 SCREW

AR-SP-HV – SURGE SUPPRESSOR KIT
(Requires AR-SP-HV Surge Protector Accessory Kit)
This AR-SP-HV kit is intended for use with UL Listed AR luminaire as 
marked on the luminaire nameplate.  

Accessory Package Contents

INSTALLATION STEPS

TMNemalux
I N D U S T R I A L

AR-HAZ
rev. A-14

1-2www.nemalux.com |  sales@nemalux.com |  Tel 403•242•7475 |  Fax 403•243•6190 MADE IN CANADA



PS 1

PS 2

GROUND
(Factory)

BLACK

WHITE

O
RA

N
G

E/BLACK
YELLO

W
/BLACK

G
REEN

YELLO
W

O
RA

N
G

E

BLACK WHITE

PURPLE

GREY

SURGE 
SUPPRESSOR

WIRING DIAGRAM
(AR-SP-HV)

1. Disconnect Line Input branch circuit conductor from splice or terminal 
connected to Black leads from LED Driver. Re-connect Line Input branch 
circuit conductor to Orange wire from surge protector.

2. Connect Orange/Black wire from surge protector to splice or terminal 
connected to Black leads from LED Drivers.

3. Disconnect Neutral Input branch circuit conductor from splice or 
terminal connected to White leads from LED Driver. Re-connect Neutral 
Input branch circuit conductorto Yellow wire from surge protector.

4. Connect Yellow/Black wire from surge protector to splice or terminal 
connected to White leads from LED Drivers.

5. Connect Green wire from surge protector to splice or terminal 
connected to Grounding branch circuit conductor and green lead from 
luminaire case.

TMNemalux
I N D U S T R I A L

AR-HAZ
rev. A-14

2-2www.nemalux.com |  sales@nemalux.com |  Tel 403•242•7475 |  Fax 403•243•6190 MADE IN CANADA

BLACK - LINE
WHITE - NEUTRAL
GREEN - GROUND
PURPLE - DIM (+)
GREY - DIM (-)


